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CHEMISTRY 12
CHEMISTRY 11 REVIEW QUIZ

1. Write the name of the following compounds:
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2. Write the chemical formula for the following compounds:
a. Aluminum chloride d. Silver chromate
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b. Hydrogen fluoride e. carbon monochloride
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c. Copper (1) nitrate f. Iron (Il) phosphate
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3. Balance and identify the following equations as either synthesis,
decomposition, single replacement, double replacement, combustion or
neutralization. Then write the names and phases of the compounds into a word
equation, for example:
_2 Ba(s)+___0O,(g)--—-—->_2 BaO(s), synthesis
solid barium reacts with gaseous oxygen to form solid barium oxide
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8. Write the dissociation/ionization equation showing the following solid
compounds dissolved in water:

@ NaCl (s) --------- > Nat (aqg) + CI" (aq)
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9. Calculate the resulting ion concentrations when the follwing solutions are
mixed. Hint: first write out the dissociation equations then use M| V| = MgVe
a2000mLof64MAIqulxedW|th10Lof02OMB_aE% .
| A LY
Pty My 57 | | [(Bhe— Bt
- (_’ "o _ : .U \.-
l‘\" ‘F = (OL—{H O’Z_DDDL_ - \, 31 L g :""‘_‘ bY: i_O‘ﬂL(/\/k o
_____ &> L Mo -
.7z L 2 i -t
Jr 0. 533 ,
= . Dbl o) M o= = D.lbbb ™
‘)7.L (C"-1:3 :M | "\f ’?/7'1 = M~ YA
SIfY J =1 ] o2 2 hqlhe 9™ 0.001M1)
7 10. Calculate the final concentration of the solute in M (moI/L) in each of the
following situations using M, V| = Mg V¢
a. 100 mL of 6.4 M HCI diluted to 5.0 L
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11. What is the concentration for KOH if 15.0 mL of this base is neutralized when
titrated with 25.0 mL of 0.325 M H,50,?
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4. |dentify the number of significant figures in the following values:

(
a. 0.0200350 o
b. 0.000090 o
G 4Ue l

5. Express the answer with the correct number of significant figures:
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b.300-20079= 19,721 = aa

a.60.3 +12.36 + 12.0=

c.(13.26 +9.87)- (18.458 +0.987) = 3. LB
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6 Calculate the molar mass of the foIIowmg compounds
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7. Calculate the number of moles in:
a. 295.6 g K,S
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b.755 mL of 0.64M MgCl,
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d. 9.800
e. 0.1

f. 200
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